o
[N

< d cot(B) >

<3 @> (rad)
©
o [
[y [6)]

................................

PO T | 6 A 1 A PO 1 N T U L T R

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[ DQM_TT__original
glooE 5 glooE 5 5 5 5
S 80f -4 = sop- 4 R I || B
A H : A H : : : :
2 60E-if < 60F {41+ {IEal -l Al
s F | o E L ALLIEN E :
v A0EI g O e B 1 A
20F-+ |11 20| 4 LA Al
of-- |- TN of -4+ [ B 5 - it
—20F- |-l ]It —20f- |- A I LI
—40F-----fI T ~40F-++|-+-4 IR e[| S
-60F § —60F---{---4- CHEEREREEE || FE R ]| B
-80F 1L -80F---{---1- (A | ISR |11 R
O_lOG_:....I...Lmi....I....I....I.... o—lOG:""'""""'i"""""""
g : g :
o [ : : : : : ad L
0.95[------ Bocssscagessasaas ESL - SR SELEEE - 0.95(— - - EEEEEEEEEREE SEEEREEECREE - B - EEREER R - - - -
3 -2 -1 0 T 2 3 93 = =T 0 T 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

<op/p.> (%)
O = N W N O

232 -1 0 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


